Converting Between ml, cl, 1 and kl (D)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
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1. Convert 83.420.000 mL to kL

2. Convert 5,6 L to cL

3. Convert 949,1 L to cL

4. Convert 2.132.000 L to kL.

5. Convert 2590 cL to mL

6. Convert 85.990.000.000 mL to kL

7. Convert 8.250.000.000 cL to kL

8. Convert 0,072 L to mL

9. Convert 7950 cL to mL

10. Convert 834.100 mL to L
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Converting Between ml, cl, I and k1 (D) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
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. Convert 83.420.000 mL to kL.

83.420.000mL -10+10+10+10+ 10+ 10 = 83,42KkL
Convert 5,6 L to cL

5,6 LxX 10X 10 = 560cL

Convert 949,1 L to cL

949,1 L X 10 X 10 = 94.910cL

Convert 2.132.000 L to kL

2.132.000L =10+ 10 =10 = 2132KkL

Convert 2590 cL to mL

2590 cL X 10 = 25.900 mL

Convert 85.990.000.000 mL to kL

85.990.000.000 mL - 10+ 10+ 10+ 10 =10 + 10 = 85.990 kL.
Convert 8.250.000.000 cL to kL.

8.250.000.000cL +- 10 +10 + 10 =10 + 10 = 82.500 kL.
Convert 0,072 L to mL

0,072L X 10X 10X 10 = 72mL

. Convert 7950 cL to mL

7950 cL X 10 = 79.500 mL

Convert 834.100 mL to L
834.100mL +-10+10+10=834,1L
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